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Biology Semester 1: Final Exam Study Guide
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1. Graphing Terms/Relationships.

Define the following terms:

1. Independent Variable: _| [/ ()} Lavdne i aun X))

2. Dependent Variable: _|
3. Control: Wlurg YL 1V oapes not 261517 o/ 15 K03
4. Qualitative Data: _ Jesprihes N he Ohoaaoolloir :" h S5

5. Quantitative Data: W . ¢ NuuIrH ey 1en ML O Q2

Draw the type of relationship indicated on the graphs below.
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Which axis would represent the independent variable? X-oxiss
Which axis would represent the dependent variable? L1-' O.J,L'\Zb

2. What are the characteristics of living things? Provide an example for each.
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Desert ignanas are lizards that live in hot, dry conditions. Scientists measured the rate of oxygen
consumption (intake) of desert iguanas at different body temperatures. Some of the results are shown in

the table below.

Body temperature/°C

Mean rate of oxygen
consumption at rest/
g '

cm?

0.4

0.7
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1.8

Graph the data from the table above. Remember to label the x and y axis.
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3. Levels of Organization: Fill in the blank and provide examples for each level below.

Least Complex

> Most Complex

Atom Molecule Cell Tigswe Orgon System Organism
Examples Examples Examples Examples Examples Examples Examples
Onjg&n Water Ul?_C‘\} Plont Muscle Tissue Heart Digestive System | Hivmoun
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Name

Microscope Labeling

B'OQwJo,r Lens

1'571?/202
2. Nose Pieee
10. A
3.10x Mediym Powre A
Dbf‘za;’ide Lens
4. 4x low Power
Ohnjechive Lens 1.
5. Jox High Power Stage
Objecdivi Lens
6. \ e a" S 12. Coorse
Shﬁ P Adw;'ubfm_mf Knob
7.0 13. Fine
DML'P"I fdﬁm AdJ‘wS'/'an'f Knob
8. Light

4.
Base

Microscope Use:

15. When focusing a specimen, you should always start with the '-h( Low> objective.
16. When using the high power objective, only the Fie Ad ",m-hmnknob should be used.
17. The type of microscope used in most science classes is the Com..?omcl microscope.
18. You should carry the microscope by the Acn andthe  Base

19. The objectives are attached to what part of the microscope (it can be rotated to click lenses into place?)

Nose "Picoe
20. A microscope has an ocular objective of 10x and a high power objective of 50x, what is the microscope's total

magnification? SO0 X Total V\o.%n\g\ c,o:\\ox (DQ@.,;\M\ Db LC ‘{'\\JQ\

= (1ox Y50 %)

- 500x




4. Macromolecules

Elements contained

Monomer of

Function of the

Macromolecule EXpIES _ nthe Macromolecule Macromolecule
C,H O : Main soures of
ﬂarbohgimfzﬁ %&L\ (ll'a:hﬁ oop Ii7:] %ﬁ%ﬁ% i {.’ %/or:ms;n:,
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All macromolecules are organic. What does this mean (What element must be present)? [ = |

What 2 body systems are most important to help carry/transport these nutrients throughout our body?

1. (’l(‘ (uJJILJh)-’Ll %u%/'hb’\’]
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5. Homeostasis
Define homeostasis:
NEGATIVE FEEDBACK POSITIVE FEEDBACK
Definition: ‘ - Definition: rcd
Y M | Wu j !
Exafhbles: ) Examples:

Most of the feedback mechanisms in the human body are

feedback

. .
Positive or Negative



Review Questions:

1. Match the cell parts in the first column with the descriptions in the second column.
Each cell part and description should be used only once.

Cell Structure
Ribosome

Golgi apparatus
Nucleolus
Microtubules
Cell membrane
Rough ER

Centriole

I oMo O ® P

Transport vesicles

Mitochondrion
Flagella
Nucleus
Smooth ER
Cell wall
Lysosome
Microfilament
Chloroplast
Central vacuole

Chromosome

®WBPUVOZErRE

Intermediate

filaments

-

Organelle

U. Secretory vesicles

Description

_ S Anchors organelles, holds nucleus in place

_JA Released by the Golgi apparatus, travels to the surface
of the cell to release its contents

_A _ Synthesizes proteins

_ (. Where ribosomes are made

__K Controls cell function and site of DNA storage

_ D Allows movement of organelles within the cell

/_-’/ Shuttles proteins between organelles

_Q_ Provides storage of water, chemicals, and wastes in
plant cells

__E _Controls passage of molecules in and out of the cell

__F_Where proteins are made

L Organizes the spindle in cell division

i Converts solar energy to useable cell energy

_ O Allows contraction and movement of cells

_1_ Allows the cell to move in space

_L.__ Synthesizes and transports lipids

_ M Shapes plant cells

B Modifies and exports proteins

_7Z _ Converts the energy from nutrients into ATP

_L/_ Digests food vacuoles and damaged organelles

1 Stores genetic information, located in nucleus

T General name for structures in the cytoplasm
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2. List seven differences between plant and animal cells.

Plont Wlls hove ! Animal (ells Have
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3. Describe the steps by which a protein is first synthesized, and then exﬂmrfé& by a
cell.
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4. |s the plasma membrane the outer boundary of all cells?
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5. How might it benefit an organism to have the nucleus near the centre of its cells?

3% bL:'nj tn Hu gonter of Y dﬂﬂ; U nueleus
s protitted by Yhe eell pumbran and e
3pocr behween Pu pudside  of Uu @l and
Uu ruelosd . This alse nmunimizes Yu distanee
whoeen  du nuclews  wnd oHur orga nulles



6. Label all the major structures in each of the following dlagrams. Can you determine
which cell is the plant cell and which cell is an animal cell?

6;'»1&(:4—%_ EL i osomes

Lol Voouo le

o)) Mambrant

Qo,\\ \A)OJ\



6. Homeostasis-- Osmosis and Diffusion

Define the following terms:

Solute: S
Solvent: —ﬁ’Ul AN STD NAOY 'l (A Ol 41 T (T AT ADY 1L /) / f U' :
Solution: A 1 0vvnnovie o LAY LONerd e SAUOSIDAC D Al Ve 1A (D01
High Concentration: _UDS ¥ TDr 10~ ConTonn N DY DAL + A o LOTTOr,
Low Concentration: J D{'Dl’t' ~ Ubniman NDCL AT A IN0 05 SDLULTY
Equilibrium: L=otsnie - Lovgls of agliite and selug @ 09,014y [ SDP Qd
Osmosis: _ [0 VADV LV DI ‘ , D )D W,
Diffusion: A 5)L7LZ)
Lowo.
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Side 1 " Side 2
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O Molecule D
A student put together the experimental setup shown above. The selectively permeable membrane
between Side 1 and Side 2 allows movement of both types of molecnles shown.
Which way would Molecule C move? —[Buon rA side 2
Which way would Molecule Dmove? | O woocad < iche
Why do we say that equilibrium is dynamic? }"“\.: Lowloe L) 'k.-i' ‘I .i H P DY t '_:(; i'; an i ’l 1\ *lr'w.

clhour Q.

LO no
Osmosis and diffusion helps organisms to maintain homeostasis. Explain how it is useful in the fcl\owmg examples:

1. Anindividual eats a very salty meal. How would this affect osmosis in their body?

TI'LQ bod.u lnnu[d 311)13_ u:%:a t@&fra_r - U EnH and ﬁ_bi':or‘b
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~plasmo Lljb.la
2. An individual is exercising and rapidly increasing their heartrate. How does diffusion help to regulate carbon

ledee and oxy en in their body?
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Photosynthesis Equation (in words):
C,- o P | T | : Ld—
LY Do LipYiod+ {/\JQJ{ZQ/ + 5&!’1(&0 -> +
(Reactants) ( ﬁ‘P (Products)

Cellular Respiration Equation (in words):

+ (=luoose > LorbotDioids + Lats v + ATP
( Wﬁ‘jb

(Reactants) (Products)

A student poured a solution of bromothymol blue indicator into three test tubes. Then, he placed an aquatic plant in
two of the test tubes, as shown below. He placed a stopper on each test tube and placed them all in the dark for 24
hours. Bromothymol blue turns blue in the presence of O; and from blue to yellow in the presence of CO..

T

@ What would happen to test tube 2 and 3 if sunlight was
added?

-—'-—'3‘-—-..

‘-—-_r-—-‘
MM__
What would happen to test tube 2 and 3 if you exhaled
into each using a straw?

\__/

Tl’u.x,i woudd turn \fulow

(eeeeeeep(()

What molecule is this? A | F

How is this molecule released?

, ' T Gl b baaakiy

What process creates this molecule?
(ol lar ¥y =YD cahaw




The 3 steps of Cellular Respiration:
(::lql (LOLLj SIS > Krabs (yole > Eleetron Tf&n‘épo-""
! Choan
Draw the arrows in the direction that energy flows and label each level with the amount of energy it obtains
and whether it holds producers, primary consumers, secondary consumers, or tertiary consumers.

A: Tﬂf‘hﬂ.ﬂj ( onsumars D. I”?»

C=?LLm0ﬂ1_QD_YL&J!WS YA

D Produwoo s 607

What happens to the energy that is not passed on
to the next trophic level?

I is lpst o hont

Write whether each increases (+) or
decreases (-) the amount of CO: in the
atmosphere:

Ocean:

Photosynthesis: —

Volcanic Activity: -+

Human Activity: _—+

Respiration: __+




The Earth’s carbon supply is a nutrient cycling process involving all living matter.

Carbon Cycle CREDIT
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}ath death
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Using the above graph and table, which two pigments need to be

photosynthesis? 1Al Ll (leonm\ and Ked

What processes in the

carbon cycle add CO; to the

atmosphere? )

/2 G_BPIWCL.‘X-\.@”‘-— &
(‘;\m.%:tu_z‘h [

What process in the carbon
cycle removes CO; from the
atmosphere?

Phots =2 o=

What does this process

require? S mlaf{}gi H.-!l':)I
ound @-lefbpM“

Table 1
Wavelength
Color (nm)
Violet 380-430
Blue 430-500
Green 500-565
Yellow 565-585
Orange 585-630
Red 630-750

hsorbed to reach the highest rate of

LD nm )

Using the graph and table, which pigment color is absorbed at 600 nm? Orn VN0

A student prepared two beakers with identical pieces of a water plant as shown below. She placed one

beaker in the shade and the other beaker beside a fluorescent lamp. She then systematically changed the
distance from the beaker to the lamp. She counted the bubbles given off by each piece of the water plant.
Shown here is the graph of the data for the beaker she placed in the light.



y N
Air Bubbles Released at Different
Distances From the Light Source
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Which distance from the light source produced 15 bubbles per minute?

What are the air bubbles made of if they increase with the addition of light?
@)(r 10 9.1

Label each pathway: Pathway A Pathway B
; : i Glucose Glucose
a: Lochie Aeid Fernentotion l
v
Pyruvic acid Pyruvic acid

Carbon dioxide

¢ Qollisloe Respicntion. (Agrobi c,\ an

v
Lactic acid Ethyl alcohol
. . -
Which pathways do not require oxygen- + +

A andB

2 ATP 2 ATP

Pathway C

Glucose

|

Pyruvic acid

|

Carbon dioxide

_I_

Water

_.I..

36 ATP



